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By 3% 4 Fn044£08 H 20 H eI Dt e/ 81 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
X R AbE 10. 00 | #H%F 577 5, 770 1, 780
IENE b 10. 00| AHxf 25 250 918 814 788
H X E % 15. 00| AH%F 529 7,935 972 845 108
X D BB 10. 00| AH%F 490 4,900| 1,048 681 270
ESF AWII--N E % 4. 00 | FHxf 28 112| 4,320 4,131| 3,888
H % i 3. 00| FHxf 83 249 2,160 1,798 1,188
H A ] 1L 1. 00| FHxf 290 290 756 546 432
ENIEE sool fst| 7| 35 2,160 2,006| 1,620
A w5 5. 00 | FHx} 179 895 1,404| 1,256 648
= | 0.50| fxr| 2,021 012|140 1] 65
= m | 0.40| #Exf| 3,840 1,53 151 133 86
= %% 4. 00 | FHxF 444 1,776| 1,944| 1,558| 1,080
[ 1N 5 5. 00| FHxf 65 325 1,512 1,078 702
= ;| 500 fxt|  s76| 2,880 1,836| 1,385 756
v—< = 0. 15| FHx} 6, 604 997 70 60 49
_XF b= b eifEE 3. 00| FH*} 590 1,770 2,592 2,201 1,728
fEoT & b 0. 10| #Hx} 200 20 130 125 119
= m | 2.00 f%F| 2l 04| 56| ¢ 621 432
o= I 0. 50| ¥H%F 100 50 270 259 216
H i (i 5. 00| FHxf 166 830 1,944| 1,669| 1,404
FEEnE AbiEiE 10. 00| AHxf 28 280 1,350 1,269| 1,134
A—=T 4 AbiEiE 10. 00| AHxf 100 1, 000 1,188
5 F AL 10. 00 | #H%f 20 200 540
£ A L 10. 00| AHxf 486 4,860 1,836 1,778 972
L&A £ B 10. 00| AH % 960 9,600 1,296 1,054 432
P=—LF R £ B 4. 00| AH%F 650 2,600 1,404 848 540
T ANRT F ) 0. 10| FH%f 725 74 140 100 65
Tayal— E % 4. 00 | FHxF 10 40 2, 052
AEMEE w5 0. 10| #Hxf | 2,300 230 146 104 59
ZDEH £ ¥ 0. 20 [ #Hx} 600 120 68 48 27
LU £ B 0. 20 | FH %} 150 30 59
AA ha—y £ ¥ 5. 00| FH*} 300 1, 500 1, 544 1,526 648
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P g SR

ESR S TR = 1 =i Q1 IV NI )
RHE 4 Fn044£08 H 20 H EFER S 29 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

DOND k¥ 10. 00| FA % 16 160 4,737 4,647 4,627
sE ok Feall 10. 00 | #H%f 407 4,070 5,400 4,826| 3,780
B oK w5 10. 00| AHxf 200 2,000 5,184| 4,444| 3,564
LIPS FoEk L 0. 30 | #H >t 1,626 487 259 220 140
A=Y a4 10. 00 | #H%f 311 3,110 2,916| 2,846 2,268




